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PART -1 (Note : Attempt any 3 questions out of 8 questions. - 14 marks each)

1)

(O8]

Describe about RBl in detail along with the functions of it.

Rosdl Alos 2 g 8D alell 51003 dlQrcllr dmandl,

Define Tax. What are the different types of tax ? Explain GST in detail.

s e g ? 5ol cavaul vl (AfA Y Ysirotl 52 UMl AU WQacll? dmesdl.
What are the three biggest reforms of independent India ? Explain any one of them
from crisis to solution.

elcdol AR AL el QL Het AUEs YURL sall sdl ? A Uhloll ULl Asa salsdlell

Lttt Y ellofl yls2u sl el

Highlight the composition, function and importance of Monetary Policy Committee
(MPC).

23 VAR 5L oy, 512l el Meect mostal,

What are the problems, achievements and future roadmap for services sector in India ?
AR A A(dx Ase0{l 565 AHRARA W RUSRA B ? Aot etQrioll 20 oot QAR 2osdl.
What do you mean by Fiscal policy ? Highlight the problems of fiscal deficit in India along
with the steps taken by the government to contain it. ‘

(Grsct WAl ANed g ? alrctMl Besct 3BRR ol WA AHosIdAl Ano Aol 8¢ 52l
R URSR AlActt watel dHest el

What are the problems associated with the agricultural sector in India ? What are the
changes after Green revolution has happened ?

RAHL 5 ool clotdl xR g B 2 eraHl ellell s ugl wdar WBadellel

CIEEEIEIRNY

Highlight the situation of Labour and unemployment in India. How it is different from
the situation in 1980's ?

LR A HL 80 vial AR R ol RS et 5. 1980 ol RRIA 52l A 589 A agf W3 ® Q

AHsLAL
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- PART - Il (Note : Attempt any 8 MCQs out of 16 - 1 mark each)

RBI was established in the year ..........cccvveien
R2d Alos s BdaAtell AL ... a{Hi ay oddl.

a. 1935
b. 1936
¢c. 1937
d. 1938
GST is which type of Tax ?

DU A sl YsReAl 52 O ?

a. Indirect Tax (AUS5cRL)

b. Direct Tax (%ﬂ‘cﬂ)

¢. Both of them (vial)

d. None of them (B5URl8l)
Education belongs to which sector of an economy ?
wdcdell sl Qlataoll ... SotHL UHLAeL A B

a. Primary sector (utauﬂ)

b. Secondary sector (Ase53N)

c. Territory sector (ée'lae"l)

d. None of them (W5UQ o18l)

FISCAL policy is managed by ...................
Srsct WAlllo] [Raumot ... glRL A .

a. RBI (Rxd Aot g s(od20)
_ b. Govt. of India (HIRA AR &R)
c. SEBI (Qoll)

d. IRDAI (USUR SIALES)
LPG reforms were introduced in the year .........ccce....
A A1) YR oo 1L AlOf 5 UlHT UL &l
a. 1989
b. 1990
c. 1991
d. 1992
Monetary policy committee consists of ................. members.

e WAl @A o yeAl &l 8.

o 0 T o
0 W~ O,



a. Direct Tax (%ﬂ%ﬂ)
b. Indirect Tax (U{LSSd‘a)
c. both of them (oial)

d. none of them (AsURLl8l)
9) Around five months ago, India's Forex was above 600 billion US Dollars.
Ul HEetl w2UEG el el 513524 600 AU URAR 50t Sletell ay ol

a. True (M¥)

b. False (W2)
10) The headquarters of International Labour Organization is located at .................
UARRAMEL2 HoER {oU60te] A HUS ... Ul wad 8.

a. Washington (Cﬂ@Dlaoi)
b. Vienna (@aoit)
c. Geneva (@GQC{L)

d. Paris (Q@%{)

11) According to economic survey, Indian economy is going through ............... shaped
recovery.

gl el credtoll U et wafAR el weddaA usRa(l Rsa?l 531 28 B,
a. Vv (Cﬂ)
b. W (56
c. X (AsA)
d. Z (3s)

12) India's GDP has consistently increased in the last decade.
AR etoll Sl ol EASIHL At AL B,

a. True (RUY)
b. False (W)

13) RBI Governor always votes in the proceedings related to the Monetary policy.

e WA dollc ulsauHl Boxd Aesoll olclolr R Hd 21U B,
a. True (MY)
b. False (W2)
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14) Nirmala Sitaraman is the chairman of GST council.
Alctt Al cdRiHet AU 5IGLRACel el D.

a. True (RUYY)

b. False (W2)

15) Compensation to state for any loss arising out of implementation of GST will be paid by
the central government for 7 years.

BAUE ol WHEAN S 23200t A%\ Usti3 ofsllot Ul A Yl Fos U512 §LRL HRULE
53 AU el H w8l
a. True (M¥)
b. False (W2)
16) RBI was nationalised in the year.....................

R o ulls 8Dl ndlatsei e U sl |l e,
a. 1948

b. 1949

c. 1950

d



